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088 445 23
100,000& » 11EY » 128 13,200
OMSE SUIIHINSHIT Wo23
3,3008 = 128 40
OHsE agotd el g3l
50,000& * 13 50
0S8 #IXE ZEH  1,000,0008 * 1204 12,000
O[AEZ=HIRXIbI] 33,925
O&E AL FXidl 32,125
o ZeS 5,000& = 967.5m 4,838
oBSE 5,000& * 680.4m 3.402
oE&H 5,000& = 396m 1,980
o=&8H 5,000% = 496m 2,480
otl=H 5,000& = 615.5m 3,078
oAlIEH 5,000& * 543.5m 2,718
oxH 5,000& = 509.3m’ 2,547
oZMH 5,000& * 613.7m’ 3,069
oNzH 5,000& = 505.1m’ 2,526
o SHatH 5,000& = 548.2m 2,741
o0Ige 5,000& * 549.1m’ 2,746
oOHsE &2 sX2aldl
150,000& » 128 1,800
O[xtg - 48] 79,200
OSH I 23|
600,000& = 128 » 11SH 79,200
401 Al HIZ 2 THHI 214,765 3,125,000 22,910,235
01 A&l 214,765 3,093,000 2,878,235
OSEBARA cIZ2E8E SA
20,000,000& * 14 20,000
OSFHARAE FXHE £XSM
15,000,000& = 14! 15,000
OSZHARL E4E cctv £XISA
.000,000& * 14 8,000
OHTUAASRA HIA HEL WHSA
55,000& * 334 1,815
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= A

X XH -
o=

el

© M

2 - ZH - SA(3) - NEAME - BES Ofl &4 a;lga":g Hunsz
OETUEARE F=XIHE HZEAE IS A
750,000 * 14 750
OYAEARA StEA HIIIEANELRSA
2,200,000 = 14! 2,200
OANZSHMRL HEEA WS A
40,000,000& = 14l 40,000
ONSSEMRA =F+ FHISA 20,000,000 20,000
OZMBAMPA HEH LDHSA
25,000,000& * 14! 25,000
ODISHMRBAL FIE ZJHISM
17.,000,000& * 14 17,000
ODISHMRPA HEITH WHSA
65,000,000& = 14! 65,000
405 Xt =S| 28,400 15,400 13,000
01 RatHL =S FHSHI 28,400 15,400 13,000
O[XtatH SHI] 28,400
OSY% XNEE AN #  190,000& = 5004 9,500
089 ZJI¥EEI| 7 990,000& = 10CH 9,900
Oz&H ZetZeld #¢
3,500,000& = 1CH 3,500
O3&H 3l94d Xt 7
25,0003 * 1004 2,500
OMNMEH Eila FIIFL (AU, +2F)
3,000,000& * 14! 3,000
HH2HAH (WD) 81,451 77,669 3,782
Jl2&H 81,451 77,669 3,782
NMEE JI=2ZHl 23,488 22,312 1,176
201 223 14,608 14,032 576
01 At 2t el 14,608 14,032 576
Olger294l] 10,000
ORANESEEANNY 10,000,000& * 14 10,000
Ol=&tl] 4,608
ORMNBEEUAHY 8.000& = 621 » 96 4,608
202 Od| 4,080 4,080 0
01 2 OILI 4,080 4,080 0
ORMSESAAY 20,000& * 621 * 34 4,080
203 g =&l 4,800 4,200 600
04 BEANESELRFAH| 4,800 4,200 600
OMSUARM2ELR=2H 400,000& » 128 4,800
Zelg JIE2&hl 19,688 19,112 576
201 Zet23] 15,608 15,032 576
01 At 22l 15,608 15,032 576
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SM: He D
M HYRAAY(HRD)
el D=2yl EER-ED
= PSTE
2N -ZH - GA(SH) - HEAMY - BES 0] Falgel Ol A O HusZ
CIEEEETD 11,000
OSNSY ZMAA 11,000,008 * 14 11,000
ol2zl] 4,608
ORMSY SUAL 8,008 * 62 9B 4,608
202 018 4,080 4,080 0
01 2 otH| 4,080 4,080 0
SH2Y BUHY 20,0008 * 62 * 34 4,080
S3e =2 13,063 12,450 613
201 LEr2 Y| 8,563 7,950 613
01 AtR 2l t| 8,563 7,950 613
Oler2gl] 4,163
ORMSYBUH Y 4,163,002 * 14! 4,163
ol2zl] 4,400
OSMSYEUHY 8,008 + 521 » 110 4,400
202 04| 4,500 4,500 0
01 =W oft| 4,500 4,500 0
ORASYZNUAL 20,0002 * 52 * 452 4,500
ag =AY 11,700 10,968 732
201 LerE | 7,600 6.888 712
01 AlR 22t 7,600 6.888 712
SIEER=1 4,200
ORNSY B 4 4,200,008 * 14! 4,200
ol2zl] 3,400
ORMNSY ZUNL 80008 * 50 + 85 3,400
202 048 4,100 4,080 20
NENEE] 4,100 4,080 20
SAHSY EUHY 20,0008 * 52 * 41 4,100
WarzelE Ol 13,512 12,827 685
201 Ler2 Y| 9,432 8,747 685
01 At 22| 9,432 8,747 685
Ol er+gl] 5,400
ORNSY SUNY 5,400,0008 * 14! 5,400
SIEELD 4,032
OSMSY ZUAAL 8,008 * 62 « 842 4,032
202 O1H| 4,080 4,080 0
01 2018 4,080 4,080 0
ORNSY SXHY 20,0008 * 6% * 34 4,080
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